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Time : Three Hours mmm
1. Given the term in the sequence 1, 8, 7, 15, §1, next term I8 ¢ SRy
(@) 62, (b 48 i R \AOSARNEY o
| (e) 63. ’ | (d) 60, .
2, Amm“ﬂmmum—hn——-—u A
(a) Singiston set. (b} Nl T
i Shaduie ~ (e) Powerset. (d) None of thewe,
\f{".‘ 34 m mm 10-19, 20-29, Mll the example of |
" (a) Exclusive. (b Inclusive.
(e) Both. L R

|
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(a) G.P. | , ) AP,
(o) P or AP, - T TR e
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7. A well defined collection of defined objoct is called =

(®) Matrix, - (b)  Set. .
(®) Equation. : (d) None.
8 IfAmatrixof order 3 x 7 and B is order of 7 x 4, then AB is of order :

(&) Sx4 ) 7Tx7.
(¢) 3xT. (d) 7x38.
9. What is the median for the following 1, 3, 5,2, 6, 4, 7.2

(a) 2. (b) B.

(c) 6. ' (d) 4.

10. is filled by the enumerator.
(a) Questionnaire. (b) Schedule.
@ Questionnaire or schédule. (&) ALL
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g | Part II (Short WWEI Questions)
& g deﬁlmﬂm A
.11, What is quadratic equation ? AR T
12, What s editing ? R L
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Part 111 (Short Essays)
Answer any six questions.

Distinguish between questionnaire and schedule.

Consider the statement : “Integers between —3 and 3”. Write the roster and set builder forms.

Find the inverse of a matrix A given by :

6 -2 4
A=-2 1 1
TR

Which term of the AP 4,9,14,....is 109 ?

A lorry covers the first 30 km. at the speed of 15 km. per hour, the second 30 km at the speed of
920 km. per hour and the last 30 km. at the speed of 25 km. per hour. Find the average speed of the

lorry.
Find the simple interest rate for Rs. 3,000 to earn Rs. 270 interest in 9 months.

In an election 72,000 votes were casted. Out of four candidates, the first got 24,000 votes, the
second got 20,000 votes, the third got 18,000 votes and the fourth got 10,000 votes. Draw a Pie-

chart for these data.

Solve &y + y = 30.
(6 x 4 = 24 marks)

Construct with the help of the data given below Fisher’s Ideal Index Number :
Commodity Base Year Price Base Year  Current Year Price Current Year
A 6 50 10 56
B 2 100 2 120
.c o o T ¥ AT 6 60
D 10 = 80 12 24
E 8 40 12 36

Solve : 3x + 8=17.
From the following data find the trend values by 5 yearly moving averages :
Year 2000 2001 2002 2003 2004 2005 2006 2007 2008
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